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The sum of the weights of two boxes of corn is 70.82 pounds. If one box weighs

35.75 pounds, what is the weight of the other box?
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Kelly drove 24.72 miles going to her mother’s place. She took a detour while

returning and ended up driving 32.15 miles. How many miles more did she

have to drive on the way back?
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Mrs. Carrie purchased a handbag for   14.97. If she went to the store with   99.35,

how much money did she have left after buying the bag?
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Justin purchased a winter coat and a scarf. The scarf was priced at    17.84. If the

total purchase amounted to    99.92, how much did the coat cost?
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4) A can of paint holds 28.95 !uid ounces, and a bottle of paint holds 16.35 !uid

ounces. How much more paint does the can hold than the bottle? 
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